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I 7amwn: girls who do not receive vip
a  convert, liberated slavewoman, captive — who were restored to secure YX1%’ nw11p before 3 years of age
i nM 7 any captive woman is treated as nvina
1 observation (33N "1): 77:R01T "1 who permits a N"12v to eat NN
(a) challenge (n17): perhaps N1’ "7 only permits so that the sinner (o1R) won't gain; perhaps X017 "1 only permits
for 12277 NN
(b) block (72a8): "> '7's reason isn't to keep the sinner from gaining; he maintains approach for nam3
(c) Defense: same reasoning — to make sure that people will still marry her (since we consider her a n1na)
(d) Challenge: nmiv "1 doesn't allow a 103 who redeemed a naw — or who testified on her behalf — to marry
(e) Defensel: read — he does permit either of them to marry her OR
(f) Defense2: he challenges colleagues split between the one who redeems &testifies and just Tyn
(i) Explanation: if he spends money on her, he knows she's n71n0
(g) However: N> "1 doesn't extend this assumption to a N1
(i) Tangent: if there are 07y that convert over 3 had mit, needs mnnn (3 months)
(if) Dissent: 'ov "1 doesn't require it — since a woman who is mam turns over afterwards to prevent My
b 72 mmnamnn = daughter, granddaughter (2), wife's daughter, wife's granddaughters (2)
¢ Reason -v .1 (by implication - if he is killed — no pnn avn)
i Challenge: v. 2 should be the source
ii  Answer: 1 for pan/nmm (since he dies, pnn subsumed); 1 for pan/miphn (since it's not so severe, "covered")
iii  observation: n™ (nYwm n,Y) uses 1 for ppn/nnon, other for mpYn/nnn
iv  justification: mpon/nnm - we don't do "double killing"; pnn/nnn — perhaps we only affect body (mpon=nnx nnn)
v tangent: interpretations of v. 3 — don't take money and let him off without execution/exile
1 justification: if only execution — since it's so severe; if only exile, since he isn't killed (but to save life, take 152)
vi interpretation: v. 4 — even if the calf's neck was broken and we find the murderer, we execute
1 therefore: v. 5 -all murderers are executed by the sword
(a) possibility: all are killed like the navy n5y; therefore, v. 6 = "humane" execution
vil interpretation: v. 7 (implication of DIn — someone about to be executed) ->donating value of 3179 RxV is nothing
1 dissent: y"an1 — has value; he interprets v. 7 — to teach that 7”2 nnn »2»nn cannot pay and achieve n93 (v. 8)
(a) Challenge: inferred from v. 3
(b) Answer: applies to killing amwa
(c) Challenge: pm *27 RIN (DTR NIN::NNNL NIN)
(d) Rather: for case where he put out a fellow's eye and killed him with another simultaneous blow
(e) Challenge: also inferred by n"an from v. 9
(f) Rather: since v1p is a WI7'N, R"10 it would be paid even when being executed
(g) question: according to N1 who says that that is the case — how will he interpret v. 7?
(h) Answer: he'll interpret against y”amy (v. 7> 1’9 R¥» have no 71p)
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